RESOLUTION NO. 16-00 CITY OF CENTERVILLE, OHIO

SPONSORED	BY COUNCILMEN	BER R	OGEV 1	14425	ON THE	17th
DAY OF	Apr:1	_, 2000.			,	

A RESOLUTION ACCEPTING THE BID SUBMITTED BY THE L. P. CAVETT COMPANY FOR THE 2000 CONCRETE REPAIR AND ASPHALT RESURFACING ROAD PROJECT IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the 2000 concrete repair and asphalt resurfacing road project in the City of Centerville according to specifications prepared by the City, and

WHEREAS, the L. P. Cavett Company was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by the L. P. Cavett Company for the 2000 concrete repair and asphalt resurfacing road project, marked as exhibit "A" attached hereto and made a part hereof be and is hereby accepted in the amount of \$754,267.44 and the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. That the City Manager is hereby authorized to reimburse Washington Township for the milling and paving work provided by the Township for the City's share of the Normandy Lane improvement project in the estimated amount of \$20,000 to \$25,000, said amount to be included as an addition to the City's resurfacing program.

Section 3. That the City Manager is hereby authorized to expend up to a total amount of \$790,000.00 in accordance with unit prices quoted in the bid submitted by the L. P. Cavett Company in order to allow for the Normandy Lane work as well as to provide for additional work and contingency items deemed necessary.

Section 4. That this Resolution shall become effective immediately upon passage.

PASSED this 17th day of April , 2000.

Mayor of the City of Centerville, Ohio

ATTEST:

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 16-00, passed by the Council of the City of Centerville, Ohio on the 17+6 day of 1, 2000.

Clerk of Council

Approved as to form, consistency with the Charter and Constitutional Provisions.

Department of Law Robert N. Farquhar Municipal Attorney

BIDDER'S PROPOSAL

CONCRETE REPAIR AND ASPHALT RESURFACING ROAD IMPROVEMENT PROJECT - 2000

	nitted by:	CAVELL nined the drawings incl	uded herein:	
	Concrete Repair City of Centervil	and the second s	ncing Road Improvement P	roject - 2000
unde	ne construction of said project in Cersigned hereby propose to furnish all ifications and as shown in the Plans	ll materials and to perfe	orm all labor, as specified an	
A.	STATEMENT BY ALL BIDD	ERS:		
	The receipt of the following Add acknowledged.	enda to the Contract D	ocument (drawings and spec	ifications) is hereafter
	Addenda No Da	ate		
	Addenda No Da	ite		
В.	CONSTRUCTION COST INF		•	items.
i 				-
DES	CRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
202	Concrete Pavement Removed, 8 and under	2100 SY	\$ 11.50	\$ <u>24,150.</u>

4600 LF

800 SF

800 SF

2000 SF

400 SY

\$ 41,00

202 Concrete Curb Removed

202 Curb Ramp Removed

202 Sidewalk Removed

202 Concrete Driveway Removed

252 Full Depth Rigid Pavement

Removal & Flexible Replacement

BID SHEET 2 OF 5

DES	CRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
253	Concrete Joint Milling and Repair	1200 LF	\$ 5,00	\$ 6,000.00
253	Pavement Repair	2000 SY	\$ 28,00	\$ 56,000,00
253	Undercutting	20 CY	\$ 40.00	\$ 800.00
254	Pavement Planing with millings to Contractor	47,588 SY	\$ 1,02	\$ <u>48,539.</u> 76
407	Tack Coat; 0.2 GAL/SY	14,360 GAL	\$ 10/	\$ 143,60
448	Type 1 Asphalt Concrete, PG 64-22 Medium Traffic, 4" driveway	300 SF	s <u>4,25</u>	\$ 1275.00
448	Type 1, Asphalt Concrete, PG 64-22 Surface, Medium Traffic, 1" to 1 1/4"	2180 CY	\$ 64.60	s <u>/40, 82</u> 8
448	Type 1, Asphalt Concrete, PG 64-22 Intermediate, Medium Traffic, ¾"	1495 CY	\$ 64,60	s 96,577,00
452	Concrete Pavement, 7" thick	2100 SY	\$ 28.50	s 59,850,00
452	Concrete Driveway, 6" thick	800 SF	\$ 5.00	\$ 4,000,00
452	Concrete Driveway, 8" thick	100 SF	\$ 7.00	\$ 700,00
603	12" Pipe Install	120 LF	\$ 45,00	\$ 5400,00
603	12" Pipe Rebuilt	32 LF	\$ 42.05	\$ 1344.00
603	12" Pipe Replaced	64 LF	\$ 60.00	s 3840.00
604	Major Catch Basin Repair	40 EA	\$ 850.00	\$34,000.00
604	Major CB Repair with 1 pipe section	5 EA	\$ 900.00	\$ 4500,00
604	Minor Catch Basin Repair	50 EA	\$ 500.00	\$ 25,000,00
604	Minor CB Repair w/ 1 pipe section	5 EA	\$ 550,00	\$ 2750,00
604	Catch Basin, Type D Rebuild	4 EA	\$ 1200.00	\$ 4800.00
604	Catch Basin, Type 3, Install	1 EA	\$ 1750.00	\$ 17.50,00

11

RID	SHEET	2	OF	5
DID	OTTLL	~	OI.	J

DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
604 Minor Repair of Manholes	3 EA	\$ 350.00	\$ /050.97
604 Manholes Adjusted to grade	40 EA	\$ 200.0>	\$ 8000,00
604 Water Valves Adjusted to grade	30 EA	\$ 60,00	\$ 1800,00
605 4" Underdrain under grass	1000 LF	\$ 9.00	\$ 9000,00
605 4" Underdrain under driveways	300 LF	\$ 16,00	\$ 4800,00
608 4" Sidewalk - concrete	2000 SF	s 4.25	\$ 8500,00
608 6" Curb Ramps - concrete	800 SF	\$ 6.50	\$ 5,200,00
609 Concrete Curb and Gutter - replaced	4600 LF	\$ 16.50	\$ 75,900,0>
614 Maintaining Traffic	LUMP SUM	\$ 7500.00	\$ 7500.00
642 DY Centerline	0.15 LM	\$ 3000.00	\$ 450.00
642 Edge line, 4" White	0.20 LM	\$ 2500.00	\$ 500.00
Spec Crack Seal	20,000 LBS	\$.80	\$ 16,000.00
Spec Crack Seal, Maintenance on Major Thoroughfares	15,500 LBS	\$.80	\$ 12,400.00
Spec Geotextile Joint Fabric	25,000 LF	\$ 185	\$ 21,250,00
Spec SAMI, Type 1 (Bigger & South Suburban Roads)	9,544 SY	s <u>1.82</u>	\$ 17,370,08

GRAND TOTAL - ALL ITEMS

\$ 754, 267.44

POSSIBLE ALTERNATE OR ADDITIONAL ITEM

Spec SAMI, Type 1 (see note below)
(Rose Estates area)

16,895 SY

\$ 1.61

\$ 27,200.95

Note: The SAMI, Type 1 alternate may be exercised by the City. The SAMI product would be used in lieu of the Geotextile Joint Fabric on the concrete streets in the Rose Estates area after the joint grinding and repair and pavement repair work is completed and prior to the asphalt paving. Addition of this work is dependent on prices received.

BID SHEET 4 OF 5

DESCRIPTION		QUANTITY	UNIT AMOUNT	AMOUNT
	ALTERNATE BID ITEMS: (These item	s will be used on an as	needed basis only.)	31
	DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
	253A Pavement Repair - Special Type A – typically Montgomery County water main cuts	49 SY	\$ 85.00	\$ 4165.00
	253A Pavement Repair - Special Type B - typically Montgomery County water main cuts	139 SY	s_75,00	\$ 10,425.00
	254 Pavement Planing w/millings to City	47,588 SY	s <u>1,42</u>	\$ <u>67,574</u> ,96
	448 Type 1, Recycled Asphalt Concrete, PG64-22, Surface, Medium Traffic, 1" to 1 1/4"	2180 CY	\$ 63.60	\$ 138,648.5°
	448 Type 1, Recycled Asphalt Concrete, PG64-22, Intermediate, Medium Traffic, 3/4"	1495 CY	\$ 63.60	\$ 95,082.00

C. COMPLETION DATE INFORMATION

The bid price reflected above represents a completion date of August 25, 2000 except for Items 253A which require a June 30, 2000 completion date and Maintenance Crack Seal and Residential Streets which requires a June 30, 2000 completion date. If an alternate completion date is proposed, it shall be specified hereafter.

AL'	TERNATE COM	PLETION DATE	La company	

D. CONTRACT PREPARATION INFORMATION

The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.
NAME OF COMPANY/CORPORATION: L.P. CAVELL &
NAME OF PRESIDENT: ROBRET L. MOUNT
ADDRESS: 600 SHEPHERD AVE.
CITY, STATE, ZIP CIDE, DAR 452/5
FEDERAL TAX I.D. #: 31- 0521486
TELEPHONE #: 5/3-554-0400
FAX#: 513-554-0/60
EXECUTION OF PROPOSAL
NOTE: Failure to sign proposal shall result in rejection of bid. P. Avett 8
(NAME OF CONTRACTOR)
BY: Holad Mount
(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)
DATE: 4/12/00
Contact person for Contract processing: Robert Mount
Mailing address if different from above:
P:\Engineering\BID\STREETy2k.doc